
HDW2387 Rev. 0 

Page 1  
 

 
 

131 County Rd. 34 E. Jackson MN, 56143   1.800.446.8222 

www.eagleplows.com 

 

2877 – BAD BOY/TEXTRON STAMPEDE & HAVOC 
Use the attached page to help with part identification during installation. 

Tools:  

15mm Socket Ratchet 

17mm Socket  
 

Plow Mount Installation: 

STEP 1: Remove the four black flanged M10 bolts in the lower front section of bumper and the two M10 

black flanged bolts directly under the front bumper section underneath the machine taking care to support 

the lower front bumper so it doesn’t fall.  
 

STEP 2: Place a lock washer (Item 4) and flat washer (Item 9) on all of the M10 bolts (Items 5 & 10). Lift 

the plow mount (Item 1) up to the front of the machine and line the four holes in the front of the plow 

mount up with the four holes in the lower front bumper where the bolts were just removed from. Insert 

one of the M10 x 30mm bolts (Item 5) through the hole in the plow mount and thread into the captive nuts 

on the inside of the lower front bumper section. Do not fully tighten. Continue with the three remaining 

M10 x 30mm bolts. 
 

STEP 3: Slide the spacer plate (Item 2) in between the plow mount and bottom skid plate on the machine 

from the back side of the mount. Push the rear of the mount up flush with the bottom of the machine and 

then insert each of the M10 x 50mm bolts (Item 10) through the slots in the plow mount, through the 

spacer plate, and thread into the captive nuts in the machine. Do not fully tighten. 
 

STEP 4: Square the mount up to the machine and then fully tighten all of the hardware working in a criss-

cross pattern to keep the mount straight. 
 

Attaching the Push Tube to the Plow Mount: 

STEP 1: Roll the UTV over the push tube assembly. 

STEP 2: Lift the push tube up to the plow mount and line the holes in the ears on the push tube up with 

the holes in the ears on the plow mount. 

STEP 3: Insert each of the 3/4 x 2” clevis pins (Item 7) though the holes and secure in place using the hair 

pin clips (Item 8). 

STEP 4: Attach the lift system of choice and the plow is ready for use. 

Removing the Push Tube from the Plow Mount: 

Reverse the previous steps to remove the push tube. Once the 3/4” pins are removed, place them back into 

the holes on the push tube assembly with the hair pin clips to prevent them from getting lost when the 

plow is not in use. 

 



HDW2387 Rev. 0 

Page 2  
 

Additional Notes: 

• Periodically check all mounting hardware. 

• (Optional) Mount the cable stop (Item 3) using the wire clip (Item 6) along the winch cable to 

prevent interference between the plow system and the machine when the plow is lifted. 

 

 

 

 

 

 

 

 

 


